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General Instructions:

All questions are compulsory.
Question numbers 1 to 20 are objective type questions of 1 mark each.

Question numbers 21 to 28 carry are of 2 marks each with intemal choice

Question numbers 29 to 36 are of 3 marks each with internal choice.
Answer of these question should not exceed 70 words.

Question numbers 37 to 40 are of 5 marks each with internal choice.
Answer of these questions should not exceed 120 words.

Section (A)
(Marks 20)

Choose the correct answer to the multiple choice questions.

1.

- When was the Privy Purse abolished? 1
(a) 1975
{b) (b) 1973
(c) 1971
(d) 1965 B
India refused to sign the treaty C.T.B.T. because 1t - 1
(a) Discriminalory
(b) China supported
(c) Pakistan supported
(d) none ol these

Total Marks: 80

When did the Soviet Union disintegrate?
(a) 1990
(b) 1991
(c) 2005
(d) 2023




What was the reason for the attack on the World Trade Center?
(a) Terrorism

(b} Cold War

(¢) Nuclear Trealy
(d) None of these

Who is the present Prime Minister of India?
(a) Donald Trump

(b) Vladimir Putin

{c) Narendra Modi

(d) Boris Johnson

Which article of Jammu and Kashmir has been abolished?
(a) 365
(b) 352
(c) 370
(d) 360

What 1s the basis of policy of NITT Aavog?
(a) Make in India

(b) Made in India

(c) Ayushman Bharat

(d) Chirayu Scheme.

Who is the current Secretary General of the United Nations?
{(a) Joe Biden

(b) Shri Narendra Modi

(c) Antonio Guterres

(d) none of these

Match the following.

India-Pakistan Kargil War 2023

10

Abolition of monarchy in Nepal ~—-—--- 1999

11

18th G-20 SUmmit.......ooooo, 2008

Fill in the blanks.

12

-

13

The currency ol the European Union IS --=-----=nm-- Euro/Yuan,

China/US ------------ adopted the policy of open door

14

The first Health Minister of India was --~----—-——-- Princess Amrit
Kaur/Pratibha Patil.

[5

When did the unification of Germany happen?

16
17

In India on what basis the new states were reorganized?

When was the first Lok Sabha General Election held?




The question given below is based on agency (I) and reason (T).
Use the following key to select the correct answer.

(a) Both (I) and (T) are correct. (T) is the correct explanation of (I)

(b) Both (I) and (T) are correct but (T) is not the correct
explanation of (I)

(c) () 1s correct but (T) is wrong.

(d) (I) is wrong but (T) is correct.

Or
Write the names of two major alliances of Indian politics.

18 Rajiv Gandhi was assassinated by a Srt Lankan Tamil who had
links with the LTTE.
(k) He had come to Kerala for campaigning.
19 India and China have been exempted from the Kyoto Protocol. 1
(1) The contribution of China and India in greenhouse gas
emissions is only nominal.
20 (1) Globalization is not a multidimensional concept. 1
(i) Technological development promotes globalization,
Section (B)
(Marks 16)
| Very Short Answer Type Questions
21 What is the meaning of unipolar and bipolar world? 1+1=2
Or
When was the Berlin Wall built and when was it demolished? 1+1=2
22 Write two criticisms of the Non-Aligned Movement of India. 1+i=2
Or
What treaties did the capitalist and the communist make during 1+1=2
the Cold War?
23 Where 1s the World Trade Center located in America and when | 1+1=2
did the terrorist attack take place?
24 When did the European Union take place and when did it get the | 1+1=2
Nobel Peace Prize? _
25 What is the main objective of SAARC? 2
26 Comment on 'Aaya Ram Gaya Ram'. 2
27 When was emergency imposed for the first time and for how [+1=2
- long it remained in force?
28 Write any two demerits of multi party system, 1+1=2




Section (C)
(Marks 24)
Short Answer Type Questions -

29 What were the effects of Soviet disintegration on developing 1+1+1=3
countries like India?
Or
What were the reasons for the disintegration of the Soviet Union? 141413
30 What were the main points of ASEAN Vision 20207 1+1+1=3
3] What is balance of power? How does a country maintain it? 1+2=3
32 What is meant by the common heritage of the 'native' world? 1+2=3
How is it exploited and polluted?
33 Take a contemporary map of India showing the state boundaries | 1+1+1=3
and mark the following princely states in it
1. Junagarh 2. Manipur 3. Gwalior
Or
What are the main problems of nationalism? 1+]+1=3
34 Mention any three results of Green Revolution. [+1+1=3
35 State three consequences of the Emergency declared in 1975, 1+1+1=3
36 How did coalition politics affect Indian politics? [+1+]1=3
Or
What is meant by coalition government? Describe its features. 142=3




Section (D)
(Total Marks 20)
Essay Type question -

37

Write the names of the six main organs of the United

Nations Organization and mention the functions of any two.

Or
Look at the picture given below and answer the questions

that follow.

)

I. Tt is the logo ol which international organization? When
did this organization come into existence?

2. When did India join iL?

3. Which part of it is most influential and how many
members are there in it.

2+1+2=5

38

Do you agree with the argument that globalization is
increasing cultural diversity?

Or
What is the contribution of technology in globalization?

2412 +14=5

1+1+1+1+1=5

39

Analyze India's changing relations with America after the
Cold War.

Or
Briefly explain India's nuclear policy by defining non-
alignment.

243=5




|40

Even after seven decades the issue of Indian unity is still not
resolved? Give suggestions to solve these issues.

Or
Read the passage and answer the questions below :

One of Hazarika’s Song.... dwells on the unity theme, the
seven states of north-eastern India become seven sisters
born of the same mother...... “Meghalaya went own way....
Arnuachal too Separated and Mizoram appeared in Assam’s
gateways as a groom to marry another daughter......... The
song ends with a determination to keep the unity of the
Assemese with other smaller nationalities that are left in the
present day Assam - “the Karbis and the Mising brothers
and sisters are our dear ones.’

(a) Which unity is the poet taking about ?

(b) Why were some States of North - East created separately
out of the erstwhile State of Assam?

(¢) Do you think that the same theme of unity could apply to
all the regions of India? Why?

1+1+1-+1+1=5

1+143=5

e ——————
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Answer Key
Part (A)
Note: There may be other solutions (answers) to the question in addition to the
given solution. Please use your discretion.
* Objective Type Questions :
(c) 1971
2 (a) Discriminator
3 (b) 1991
4 (a) Terrorism
5. (c) Shri Narendra Modi
6. (c) 370
7
8
9

et

(a) Make in India
(c) Antonio Guteras

: Indo-Pak Kargil War 1999
10. Abolition of monarchy in Nepal ----------—- 2008
11. 18th G20 Summit 2023
[2. Euro
13. China
14, Princess Amrit Kaur
15. 03 October 1990
16. On the basis of language
17. 1952
18. {(c) A is true but R is false.

19. (a) Both A and R are correct. R is the correct explanation of A.
20. (d) A is wrong but R is correct.
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Part (B)
Very Short Answer Type Questions
21.  Unipolar world means dominance of only one great power in the world. For
example, in the present day America. Bipolar world i.e. dominance of two
powerful ideologies in the whole world — for example Soviet Russia and
America before the disintegration of Soviet Russia. 1+1=2



22.

23.

24,

25.

26.

27.

28.

Or
The Berlin Wall was built on 13 August 1961 and demolished on 9

November 1989. 1+1=2
1) Avoidance of taking a confirmed stand 1+1=2
2) Lack of consistency in behavior

Or
Capitalist - NATO, SEATO 1+1=2

Communist - WARSAW PACT

The terrorist attack on the World Trade Center is located in New York on
September 11, 2001. This is famous as the 9/11 incident. 1+1=2
European Union was established on I November 1993 in Maastricht
Netherlands. It was awarded the Nobel Peace Prize in 2012 for its peace
efforts in a war-torn continent. 1+1=2

The main objective of SAARC is to bring qualitative improvement in the
lives of the people living in South Asia and to accelerate the development of -
soclal, economic, cultural, scientific, fields. 2
Popularly known as Aaya Ram Gaya Ram, inspired by the politics of
defection from the Haryana incident of 1967. It has an important
contribution in the formation and break of many governments. 2
National Emergency was imposed on 26 June 1971 and remained in force
for 21 months till 21 March 1977. Or 1. India avoids taking definite stand on
international matters. 2. Lack of consistency in India's behavior 1+1=2

1. This leads to instability in the administration. 1+1=2

2. Selfish policies prevail.

Or
1. National Democratic Alliance (NDA) 1+1=2
2. United Progressive Alliance (UPA)
Part (C)
Short Answer Type Questions :
29. 1. After the disintegration of the Soviet Union, America remained the

only superpower in world politics, that is why India and other
developing countries tried to make good political relations with

America. 1+1+1=3
3. US unnecessary intervention increased in Afghanistan, Iran, Iraq Big
dependence on America for money and military goods
4. American dominance increased on institutions like International

Monetary Fund, World Bank (Any three)



30.

31.

32.

33.

Or

1. Defective or weak leadership of the Soviet Union 1+1+1=3
2. Emergence of National Aspirations of the Soviet Republic

3. The weakening economy of the Soviet Union

4. Policies of Mikhail Gorbachev

5. Armament (Any three)

1. Playing an important role in international politics 1+1+1=3

2. Giving importance to ASEAN Security Community, ASEAN
Economic Community, ASEAN Social and Cultural Community Adopting a
policy of cooperation instead of confrontation

Balance of Power refers to the condition which in contemporary world
politics does not allow any country to become so powertul that it poses a
threat to others. Developing countries maintain the balance of power by
increasing military capacity at par with developed countries.  1+2=3

The natives of a country are called those people who have been living there
for a very long time, who want to maintain their language, culture, dialect
and traditions. The common heritage of the world is called that on which a
particular person It is not a right, but it is the right of the whole society or
comimunity and they use it equally like pasture, playground, well. 14+2=3

Junagarh, Manipur, Gwalior 1+1+1=3

Or
. Regionalism [+1+1=3
2. Linguistics
3. Casteism
4. Administrative problem



36.

I. Tncrease in production of wheat and rice 1+1+1=3

2. Growth in the country's GDP

3. Promotion of industrial development

4. Qualitative change in employment and rural life

5. Solution to food crisis

6. Promotion of exports

7. Adoption of new technology (Any Three)

1. Press Restrictions 1+1+1=3

2. Suspension of Fundamental Rights

3. Ban on display of political parties

4, Ban on strike

5. Uniting of Opposing Parties

6. Creation ol Janala Party (Any Three)

Eftect of coalition politics on Indian politics 1+1+1=3

1. Political instability

2. Encouragement to defection

3. Decline of Indian political culture

4, Fulfillment of personal interests

5. Conduct contrary to parliamentary principles  {Any Three)
Or

When two or more political parties together form a government, it is called a

coalition government. 1+2=3

1. Having two or more parties

2
3
4

. Leadership by a large party

. Having a common program

. Having a large cabinet (Any Three)

Part (D)

Essay Type Question :

Main organs of the United Nations - 3+2=5
1) General Assembly

2} Security Council

3) International Justice Secretariat

37.

4

) Economic and Social Council

5) Trusteeship Council



38,

The tollowing are the functions of the General Assembly.

1. It elects members of other structures and agencies of the United
Nations.

2. Takes major decisions related to the member states.

3. Discusses on international topics.

The following are the functions of the Security Council.

1. To increase opportunities for social and economic development all
over the world.

2. Stopping international conflicts.

3. Stopping the expansion of enmity in different states and promoting
cooperation.

Or

1. This people belongs to the United Nations which was formaliy
established on 24 October 1945.

2. ° India joined it on 30 October 1945. The Security Council is called the
most influential organ of the United Nations. It has a total of 15
members, out of which 5 are permanent and 10 are elected by the
United Nations General Assembly for 2 years. 2+14+2=5

Globalization is a multidimensional process which has an important role in
increasing cultural diversity. The cultural consequences of globalization are
as follows. a) Cultural homogeneity is an important aspect of globalization
whereas this process produces the opposite effect. Cultural globalization
leads to making the culture more different and distinctive. b) The
culturalization of globalization has created a danger of extinction of cultures.
Because globalization is taking human culture towards a uniform culture.
Due to which there is a danger of shrinking of the sweet cultural heritage of
the whole world. ¢) Globalization has modified the traditional form of
culture without affecting it. For example, the blue jeans which have
maximum use in India due to globalization can go well with Indian khadi
kurta. Therefore, cultural diversity can be said to be a gift of globalization.
2+1%+1Y=5



Or

1. Advances in technology have caused events in one part of the world to
affect other parts, such as the Russia-Ukraine war.

2. The development in technology has enabled a person to understand the
political, social, economic, cultural events of the world.

3. The revolution in communication and information technology has increased
the closeness and interdependence of states.

4, Although many reasons are responsible for the growth of globalization, but
technological development has played an important role in it.

5. Modern technology has made it possible to transfer goods, ideas, capital
and human beings from one country to another. 1+1+1+1+1=5

After the disintegration of Soviet Russia at the end of the Cold War, India has
become an attractive economic partner of America due to the liberalization of its
economy and impressive economic growth rate to get out of the unfriendly -
environment of India on the globe. There are two main things in India-US relations
- technology and Indian non-residents settled in America. In the field of softwarc,
65 percent of America imports from India, 35 percent of the technical staff in Boeg
are Indians. In high technology, 15 percent of the companies have been started by
Indians. Scholars say that while increasing its national power in terms of military
power, India can become more powerful by taking advantage of this historical
opportunity to form an alliance of developing countries so that US relations are so
complex that they do not clearly depend on any one strategy. A proper
combination of several strategies of Indian foreign policy will have to be prepared.
2+3=5

Or

In order to realize the dream of planned development and peacelul world,
independent India gave importance to the policy of non-alignment to protect itselt
and other developing countries from the fire of cold war, that is, India relused to
Join any faction.

Made the principles of Panchsheel the basis of its foreign policy, in which
special emphasis was laid on respect for territorial sovereignty and integrity. But
when China, the primarv country promoting the development of the policy,
attacked India and America, China supported directly and indirectly in the attacks
done by Pakistan, then India had to do something in its foreign policy to strengthen
the military position. By making concrete changes, he refused to sign the treaty and
in 1998, by conducting nuclear tests, included himself in the countries with nuclear
capability, which was called condemnable at the international level. Keeping its



40,

E\J

side, India said that India will not use nuclear weapons first and is committed to
nuclear disarmament. 2+3=5

The rising voices of separatism and the tense political period after 1980 have tested
the potential of Indian democratic politics. In view of which some measures have
been suggested which are as follows:- 1+1+1+1+1=5
Instead of responding to regional aspirations, it is better to discuss problems in a
practical manner and not suppress them.

To reduce the regional tension, the idea of separatism should be abandoned and the
feeling of national unity should be kept paramount.

By adopting a practical approach, the solution of the problem of extremism in
states like Punjab, Assam by the Indian government can act as a guide for the
future as well.

India fully agrees with the mantra of diversity, hence the expression of regional
aspirations has to be allowed. He does not consider them anti-national but tries to -
understand.

Indian constitution makers have foresight who were aware of these diversities
hence adopted federal system.

Economic Development By not promoting regional balance, this problem can be
overcome by developing backward states on priority basis and connecting
everyone to the mainstream of development.

Or
The author is talking about regional and national integration.
So that all the states can move towards development in a peaceful manner.
On the basis of regional challenges faced by India, we can say that India's
constitutional framework can practically prevent it from going on the path of
separatism. In Indian politics, it is accepted that regionalism is an integral part of
democratic politics. 1+1+3=5
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Board of School Education Haryana

Political Science
Code - 28
Class 11th
Model Test Paper 2023-24

Time - 3 hours Total Marks: 80

General Instructions:

a)
b)

¢)
d)

€)

All questions are compulsory.
Question numbers 1 to 20 are objective type questions of 1 mark each.
Question numbers 21 to 28 carry are of 2 marks each with internal choice
Question numbers 29 to 36 are of 3 marks each with internal choice.
Answer of these question should not exceed 70 words.
Question numbers 37 to 40 are of 5 marks each with internal choice.
Answer of these questions should not exceed 120 words.
Section (A)
(Marks 20 Marks)
Objective Type Questions :

| How many articles were there in the original constitution of ]

India?
a) 390
b) 395
c) 405
d)y 450

)9

How many fundamental rights are currently available to Indian 1
citizens?
a) 6
b) 7
c) 8

Who gives recognition to political parties? | 1
a) President

b) Chief Justice

¢) Supreme Court

d) Election Comimission , |




For how many years the President of India is elected?
a) 4

b) 5

c)3

d} none of these

How much time is given Lo Rajya Sabha to pass a money bill?
a) 7 days

b) 14 days

c}) 30 davs

d} 60 days

An independent and impartial Supreme Court is necessary in
India because?

a) India is a democracy.

b) India has a federal system of government.

¢) India has a parliamentary form of government.

d) In India, the President is required to deal with complex legal
matters and consult them.

What are the grounds for obtaining citizenship in India?
a) on the basis of location

b) on the basis of birth

¢) on the basis of registration

dj all of the above

How manv levels of Panchayati Raj have been established in
India?

a) two-tier

b) three-tier

c) single tier

d) none of these

Match the following.

o

Constitution a sacred documents--—----—--=-- Lokmanya Tilak

10

Swaraj is my birthrighte----- Aristotle

11

Father of Politics B.R. Ambedkar

Fill in the blanks.

12

The absence of external restrictions on the individual is called
............... (liberty/eguality),

13

The principle of one man one vole is related to .............
(economic/political equality),




14 Equal pay for equal work is ... 1 |
(religious/economic justice).
| = Answer in One Word or One Sentence. _
15 Who is the supporter of natural rights? |
16 | How many types of citizenship are there? 1
17 In which year did the unification of Germany take place? 1
State true/false.
18 Is peace necessary for humanity? { True/False)
19 Medha Patekar is associated with "Narmada Movement'.
(True/False) )
20 Dual citizenship is found in India. { True/False) |
Section (B)
(Marks 2x8=16)
Very Short Answer Type Question
21 State two functions of political theory? 1+1=2
Or
Write two main subjects of political theory? 1+1=2
22 Write the meaning of balance of power? 2
Or
Write two means of establishing peace 1+1=2
23 Write two qualities of nationalism 1+1=2
Or
Mention any two hindrances in the development of nationalism. | |+]=2
24 What is meant by equality before law? 2
25 Explain two importance of constitution? 1+1=2
26 Mention two qualifications for contesting the Legislative 1+1=2
. Assembly elections.
27 Wrile the number of members of Lok Sabha and Rajya Sabha. i+1=2
28 | In which article the process of amendment in the constitution is | 1+1=2
given and in which house it is run.
Section (C)
(Marks 3x8=24)
Short Answer Type Questions - .
29 Describe the three guardians of liberty? 1+1+1=3
Or
Write three forms of liberty 3




130 Give details of some of the provisions of the Indian Constitution | 1+1+1=3
which aim at the creation of social justice.
Or
What do you understand by social justice? 3
31 Even in a fully democratic country like India, citizenship isnot | 1+1+1=3
an absolute truth but a project. Discuss the issues related to
citizenship that are being raised in India today.
Or
What is the difference between a citizen and a foreigner?
1va+1%2=3
32 What is theoretical distance? Explain with examples, 2+1=3
33 Show any three states that were formed after the year 2000 in 1+1+1=3
the map given below,
™
=4
u
Z
4
‘
34 | Under what circumstances does the President exercise his 14+2=3
I discretion in the appointment of the Prime Minister?
35 What are the provisions in the constitution to maintain the [+1+1=3
independence of the judiciary?
36 | On what grounds are the criticisms of the Indian Constitution | 1+1+1=3
made?
Section (D)
(Total Marks 5x4=20)
37 Describe political, economic, cultural rights. 2+2+1=5
Or
The right imposes some limits on the authority of the state, 342=5
explain with examples )




Describe the main differences between the Local Governments

Read the passage given below carefully and answer the
questions that follow.

The idea of development refers to the desire for a better life. It 1s
a very powerful desire and the hope of improvement is the
driving force of human action. We have seen the widely
accepted version of what constitutes improvement.

have come under critical scrutiny. A multidimensional search is
underway for more equitable, sustainable and democratic
models of development. In the process many concepts of
political theory such as equality, democracy and rights have
been reinterpreted. The issues that have arisen while pursuing
the goal of development show that the choices we make have an
impact on other humans and other species in the world, so we
must see ourselves as part of the larger universe because our
destinies are infertwined. are connected in

Moreover my actions not only affect others but also my own
future prospects so we need to choose carefully keeping in mind
not only our present needs but also our long term interests. Is
Question: 1. What is the idea of development ?

2. What is the main concept of political theory ?

3. What are the things to be kept in mind while making a
selection regarding development ?

38 | 2V4+2Y5=3
before and after the 73rd amendment.
Or 5
What is the importance of local bodies in India?
39 Explain the merits and demerits of Adult Suffrage. 25 +214=5
Or
Give arguments in favor and against women's suffrage. =5
40 What measures can be adopted to maintain sustainable S
development?
Or [+2+2=5




Haryana School Education Board Bhiwani
Class 11"
POLITICAL SCIENCE
Code - 28
Answer Key
Note: There may be other solutions (answers) to the question in addition to the
given solution. Please use your discretion,

Part (A)
* Objective Type Questions :
L B) 395
2. A) 6
3. D} Llection Commission
4. B) 5
3. B) 14 Days
0. B) India has a federal government system.
7. D) All of the above
8. B) Three-Tier
9. B.R. Ambedkar
10. Lokmanya Tilak
11. Aristotle
12. Freedom
13. Political equality
14. FEconomic Justice
15. John Locke
L6. Two
17. 1990
8. True
19. True
20 False
Part (B)

Very Short Answer Type Questions
21. Political theory acts as a source of inspiration for the society. 1+1=2

Political theory lists various concepts.

Or

Freedom

Social Justice, Equality
22, Balance of power means thal no country should be allowed to become so

strong that it becomes a threat to the security of others. 2

—_— e b et ek e b e e e e et b e et i e
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30.

Or 1+1=2
By making laws,
Protecting from external aggression.
Common interest

Bonding of people 1+1=2

Or
Communal Strife [+1=2
Lack of Unity
Equality before the law means that all are equal before the law, no one has
any special rights. 2
Autocracy puts reslrictions on power. 2
The constitution establishes the rule of law.
It 1s mandatory to be a citizen of India. 1+1=2
It is mandatory Lo be at least 23 vears of age.
S50 1+1=2
250
Arlicle 368 1+1=2
Can be run in any house.

Part (C)

Democratic system (Any Three) I+1=1=5

Economic equality

Decentralization of powers

Conscious public opinion

Independence of judiciary

Opposition and independent court

Civic consciousness

System of constitutional remedies
Or

Political tfreedom 1+1+1=5

Civi] freedom

Economic freedom

[undamental Rights 1+1+1=3
Unlouchability prevention

Directive principles of state policy

Provision of reservation



31.

32.

Or
Importance of each person in the society 1+1+1=3
Non-discrimination on caste, religion, seX, caste
abolition of slavery
gender equality
Growing population and lack of resources [+1+1=5
Guarantee of basic rights and minimum standard of living
Improving the condition of the urban poor
Providing sanitation and water supply facilities to slum dwellers.
Or
Citizen: Is a permanent resident of the country. LYat+14=3
Political and economic rights are received.
Can buy and sell movable and immovable property.
Foreigner Foreigner is not a permanent resident of the country.
Foreigners do not get political and economic rights.
Foreigner cannot buy and sell movable and immovable property.
Theorerical Distance - Under this, the state should nol actively inlerfere in
any religion. For example, India believes in mamtaining a principled
distance from religious matters. He can be separated from religion and can
also join it if needed. The Constitution of India has banned untouchability
only when necessary. The Indian state has made several laws to abolish
child marriage and Lo end the prohibition imposed by Hinduism on inter-
caste marriage. Thus maintaining a principled distance in the context of
Indian secularism means interfering in religious matters when needed.
2+1=3
Uttrakhand, Chattisgarh, Jharkhand, Telangana 1+1+1=3

¥ Utlrakhand




34.

Ll
th

36.

37.

The President can exercise his discretion in the appointment of the Prime
Minister in the following circumstances

If no party has a clear majority in the Lok Sabha

sudden demise of the Prime Minister or resignation of the Prime Minister
The President can dissolve the Lok Sabha and appoint anyone as the

Care taker Prime Minister for some time. 1+2=3
Parliament and Legislative Assembly have no role in the appointment of
judges. 1+1+1=3

Certain qualifications are prescribed in the constitution for the appointment
of judges.
The judiciary is not dependent on the executive or the parliament for its
salaries, allowances and other financial facilities. A debate on a bill
relating to their expenditure 1s not a vote.
The tenure of the judges is long and fixed, although in some circumstances
they can be removed, but the process of impeachment is very long and
difficult.
1. Not suited to present Indian conditions. 1+1+1=3
2. It lacks originality.
3. It was not created on the basis of majority/public opinion

Part (D)
Right to contest elections in political rights. 2+2+1=5
Economic rights are those rights which ensure entitlement to the basic
needs of food, shelter etc.
Economic rights are helpful in the fulfillment of political rights. Right to
minimum wages 1s an economic right.

Cultural rights are given to the citizens to maintain their culture. Its
essence and its dignity.
Political rights and economic rights help in ensuring cultural rights for the
citizens. The right to establish an institution for the protection of one's
language is a cultural right.

Or
Rights impose certain limits on the authority of the state as they make the
state responsible for its actions. 3+2=5
Rights impose an obligation on the state to act in a cerlain way
For example, the state must ensure that its policies provide basic needs to
all its individuals.
Rights state what the state should refrain from doing.
The state cannot make such laws which violate the fundamental rights of
the citizens and go against the constitution.
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Freedom of expression is a basic right of an individual so the state cannot
stop anyone from expressing himself.

The State cannot arrest any person unnecessarily as it would mean
infringing his/her right to liberty.

After the enactment of the 73rd amendment, local government has been
divided into a similar three-tier Panchayati Raj structure. 2Y42%=5
Earlier it was the responsibility of the state administration to conduct
elections to the Panchayati Raj Institutions, but now the state government
appoints the State Election Commission for the purpose.

Fresh elections have to be held within six months after the dissolution of
Panchayati Raj before the period of five years.

The distribution of revenue between state government and local
government and between rural and urban government is done by the State
Finance Commission. This was not the case before the 73rd amendment
came into force.

Reservation is implemented for women, Scheduled Castes and Scheduled
Tribes and Other Backward Classes (if the State Government considers it
necessary for OBCs) in various posts in local government in proportion to
their population.

Twenty nine subjects which were earlier in the State list of subjects in the
Eleventh Schedule of the Constitution have been transferred to the
Panchayati Raj Institutions.

OR
The local self bodies are related with the daily life of the people to perform
functions related to eduction, sanitation, public health etc. 5

The local bodies provide the right solution of the local problems due to
participation of local peoples, where the central and state government are
unable to pick up the exact nature of problem.

The local bodies lessen the work-load of Sanitation, public health etc.

The local bodies lessen the work-load of the central and state government
because they could not spare time to look into the local matters, Hence,
local bodies can solve these problems easily.

The local bodies develop the equalities of citizens to awaken the political
consciousness and the experience the sense of liberty and equality which is
essential for the success of democracy.

It creates decentralization of powers, where people directly participated in
the daily need, jobs and feed satisfied.
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40.

The local bodies provide the right solution of the local problems due to
participation of local peoples, where the ceniral and state governments are
unable to pick up the exact nature of problem.

The local bodies lessen the work-load of the central and state government
because they could not spare time to look into the local matters. Hence,
local bodies can solve these problem easily.

The local bodies develop the equlities of citizens to awaken the political
consciousness and to experience the sense of liberty and equality which is
essential for the success of democracy.

It creates decentralization of powers, where people directly participate in te
daily need, jobs and feed satisfied.

Qualities - protection of interests of all, equal opportunities for development,
political education, protection of rights and dignity of all, interest in
governance, basis of democracy, representation of minorities,

Dosh - Possible misuse of franchise, election of ineligible persons, purchase.

of votes, corruption in elections, conservatism. 2Y4+215=5
Or
Give arguments in favor and against women's suffrage. 2Ye+2Y=5

Arguments in favor - Gender discrimination in relation to franchise is unfair.
No effect on family life.

Healthy influence on politics

It is irrational to consider women as weak
Fully capable for administration

Perfect for today's era

Arguments against - Bad effect on family life
Mere repetition of opinion

Indifference to politics

Lack of self confidence

Passionate nature

Maintaining ecosystems and related ecological processes for the functioning
of the biosphere. 5
Maintaining biological diversity by promoting conservation and ensuring the
survival of species of flora and fauna in their natural habitats.

Adherence to the principle of optimum suslainable yield in the exploitation
of living natural resources and ecosystems.

To prevent significant environmental damage.

To make public all relevant information without delay in cases ol harmful
radioactive releases or poliutants etc.

To establish environmental protection standards.



Prior assessment is needed to ensure that key legislation, policies, projects
and technological contributions are in place to drive sustainable
development.

Or
It refers to the desire for a better life and the hope of improvement as a
driving force in human action.
Equality, democratic rights and participation in political affairs by the people
One's actions not only affect others but also affect future prospects.
Keeping in mind the present needs as well as long term interests.

1+2+2=5
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